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ENGLISH VERSION

1 A company has to make a choice between two Projects 14
X and Y. The initial capital outlay of two projects are
Rs. 4,05,000 and Rs. 7,20,000 respectively for X and Y. There
will be no scrap value at the end of the life of both the Projects
the opportunity cost of capital of the company is 16% the
annual income are as under :

Year Project X' Project Y'
Rs. Rs. |

1 - 1,80,000
9 90,000 2,52,000
3 3,96,000 2,88,000
4 2,52,000  3,06,000
5 2,52,000 2,70,000

You are required to calculate for each project :
(1) Pay-back period
(2) Net Present value
(3) Average rate of return
(4) Profitability index. |
- OR

1 Write notes : 14
(1) Pay-back period
(2) Average rate of return.

2  Net operating earning of Jay Ltd. is Rs. 3,15,000 while 14
its total investment is Rs. 15,00,000. The rate of equity
capitalization is 12% when its capital structure doesnot
include debts. But the rate of equity capitalization is 12.5%.
When the company issues 9% debenture of Rs. 4,00,000 in
exchange of its equity shares. And equity capitalization rate
is 14%, when it issues 10% debenture of Rs. 7,00,000 in
exchange of its equity shares.
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Compute cost of capital and Market value of the company
under these situations according to traditional approach.

OR

Explain M. M. approach in capital structure with example. 14

The following is the balance sheet of Abhinav Co. Ltd. 14
as on 315 December, 2012.

Liabilities Amt.
Share Capital :
14,000 Equity shares

of Rs. 100 each 14,00,000
General Reserve 3,21,000
6% Debentures 80,000
Bank loan (Short-term) 70,000
Sundry

credifors 1,20,000
Unclaimed Dividend 6,000
Provigion of taxation 14,000

20,11,000

Additional Information :

Asszets

Goodwill _
Building (at cost less
depreciation)
Plant and Machinery

(at cost less depreciation)
Patents (less written off)
Investments :

Quoted (M.K. Bs. 30,000
Ungquoted

Trade investment

Shares in Subsidiary Co.
Stocks and stores

Cash in hand and bank
Sundry Debtors

Bills Receivable
Preliminary expenses

" Amt.
20,000

2,00,000

4,00,000
200

20,000
20,000
40,000
2,40,000
3,00,000
60,000
6,00,000
1,00,000
10,800
20,11,000

(1) The current replacement cost of Building and Plant and
Machinery are Rs. 3,00,000 and Rs. 6,00,000 respectively.
2 The value of shares in subsidiary company is

Rs. 3,00,000.

(3) The trade investment are valued at Rs. 50,000 un_quoted
investment at Rs. 30,000 and quoted investments are

not related with normal activities of the company.

(4) The values of raw Materials included in the figures of
'stocks and stores has shown an ihc_ifease_ of
Rs. 1,00,000. However Rs. 20,000 Wox;th' sﬁocks are
available and are to be written off.
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(5) The patents have a Market value of Rs. 20,000 which
represent a conservative estimate of the price which can
be obtained if sold at Present.

(6) The profit of the year is Rs. 3,00,000.

(7) If the depreciation is charged on the replacement cost
basis then it will be increased by Rs. 20,000 for building
Rs. 30,000 for plant and Machinery and Rs. 4000 for
patents.

(8) The sales made in previous year were Rs. 2,00,000 in
which estimated profit 1s Rs. 22,000. This ﬁgure 18
included in Profit given. :

@ The profits on completed contract is Rs. 6000. This
figure has been ignored while calculating the net profit.

(10) The amount of goodwill written off during t_he‘year was
Rs. 4,000.

(11) Income _from quoted investments of Rs. 2000 has been .

included in the profit of the year.

(12) There was loss on sale of assets of Rs. 1000 which is
charged to profit and loss A/c of the vear.

From the above mentioned information calculate :
(1) Gross and net capital employed _
(2) Profit for Management planning and control
(3) Return on capital employed.

OR

Discuss various variables affecting return on capital.

A Litd. will start business on 1% January, 2005 when it

will issue 52,000 equity shares of Rs. 10 each at a Premium

of 30% payable in cash to finance :

(1) Capital expenditure : On 1-1-2005 Rs. 5 lakhs, on
31-3-2005 Rs. 1.01 lakhs by cash payments.
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(2) Working capital for first six months on the basis of :

(D

@

)

Sales (Gross profit being 25% of sales) will be for
January and February Rs. 60,000 P.M., March
Rs. 80,000 Aprili Rs. 1 Lakh, May to dJuly
Rs. 40,000 P.M. collection to be made on the last
date of the month after that in which goods were
sold. Commission at 5% is payable on collections.
On the first date of each month there should be

stock to supply all sales of the following month only.

Payments to be made on the last date of the month
after that in which goods were purchased.
Salaries and other fixed expenses :

January .to March Rs. 3000 P.M., April to
June Rs. 5000 P.M.

These are Payable on the last date of the
month.

Prepare Month-wise cash budgets for 6 months
ending 30th June 2002.

OR
4  KExplain Meanmg of cash budget, objectives and its 14
importance in detail. :
5 Explain advantages and disadvantages of uniform costing. 14
OR
5 (ive meaning of inter-firm comparisons, and explain 14
its process and types.
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